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Instructions :

All questions are compulsory.

(i) 991 HHF 1 R 8 Teh 37frery IuT W ¥ | el We W 1 st eqrefea )

Question Nos. 1 to 8 are very short answer type questions. Each
question carries 1 mark.

(iif) 1 A 9 W 12 Th A ITHE T | IIH T W 3 37 e ¥
(SW &t Afusran wsg-dim 50 vt )
Question Nos. 9 to 12 are short answer type questions. Each question
carries 3 marks. (Maximum word-limit of answer is 50 words)

(iv) W SRHIF 13 | 18 7 S I 9o ¥ | ol W § arafes famea 31
THE T W 4 37 ITeifen ¥ 1 (o a7 s vee-d 75wt ¥)
Question Nos. 13 to 18 are long answer type questions. Each question

has internal choice. Each question carries 4 marks. (Maximum word-
limit of answer is 75 words)

(v) W HAH 19 | 24 7 <Y I909 W ¥ | worw W § atafE ey &
T G W 6 37 3Taifeq § | (I Y stferpan wee—dm 250 ¥Ig ®)
Question Nos. 19 to 24 are long answer type questions. Each question

has internal choice. Each question carries 6 marks. (Maximum word-
limit of answer is 250 words)
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Iy w1 ey fREd B g ? 1

What is concerned with utility?

Tt o 1 U ¢ faRa e W HH-9 AR Hel 7 1]

Which market would say if there is only one seller of an item?

e frdl wa § 7 (1]
What is called depreciation?

o et R F o ¥ 2 (]
What is meant by consumption goods?

oI 5T R 2 [

What is metallic money?

faceit fafra w fesw s-a S m@a 2

(1]

Which bank controls foreign exchange?
YA H fadfa o N sy Fa A Fa aw A1t 82 M
How long 1s the financial year period in India?
afya a9e fhd wgd ¥ ? (1]
What is called surplus budget?

© R T A e v R R g e fafan) [2+1=3]
Write definition and equation of price line or budget line,
ITeqIfeshi 1 d fardand fafigu | [1+1+1=3]
Write three characteristics of oligopoly.
T 3119 O feft ot e sie e i [14+1+1=3]

Give three differences between National income and Private Income
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Wwﬁw#mmﬁmﬁ?ﬁ%lﬂwi [3]
Government needs to borrow in Fiscal Deficit. Explain.
IS HYE a5k St WIGaId, fafad (g 9 | [1+1+1+1=4]
Write the assumptions of production possibility curve (any four).

3reran

OR

=fte Td TRiR stdure § sia fafaw (91 &) |

Write the differences between Micro and Macro economics (any four).

U¥T-14  GHE & MUR W 99K F =X THR T4E5 | [1+1+1+1=4]

()

W -15

)
&

Describe four types of market based on time.
3qr
OR
ol wfaaifir sTeR &1 | faPmand smE |

Describe four characteristics of the full competitive market.

YRA § T 3 F M H A Al W oAl wiE-a o ¥ 2
forfae (18 ') | [1+1+1+1=4]
What are the main difficulties for measuring national income in

India? Write (any four).

afegqr
OR

YR &t T o1 o gfig ¥ Tovas gee Sifwe (75 9 |

Suggest some measures to improve national income in India

(any four).
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W@@uﬁm@ﬁmm(ﬁml

oney and token money

[1+1+1+]1=4]

Write the differences between standard m

(any four).
arear

OR
T 37 E1 verd % v fafay (P 9n) |

Write the merits of a good money material (any four).

T2 % Y& a3 fafey (+E /1) | [1+1+1+1=4]

Write the main elements of budget (any four).

arerar
OR

a9 ¥ 32w fafau (FE 97 |
Write the objectives of budget (any four).

o =74 TE Yoia =1 § of fafan (FE 9 | [1+1+1+1=4]

Write the differences between revenue expenditure and capital

expenditure (any four).
rar
OR

F72 & T ! fafaw !

Write the components of budget.

wmﬁwaaﬁaﬁmmﬁﬂaﬂﬁﬂ;mﬁﬁ%zﬁmﬁﬁ
Fra FEG: 2 4 q ¢ 5 ¥ | Iy F AAT 20 7

() = Y % geite i fafen

(if) Qs afz ST T T A 1 W S, W AT IHh! fohat

TTST T ST L Geohall & 7
(i) Savirn Af ST wegv] ST e 2 R S R, W AT IHH! foRrdt
TTET F1 ITHNT H Hehall & 7
(iv) =12 @1 I T =R 2 [142+2+1=6]
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A consumer is willing to consume two goods. Both items are priced
at¥ 4 and ¥ 5 respectively. The income of the consumer is % 20.

(i) Write the equation of the budget line.
(1)

If the consumer spends his entire income on item 1, how much
quantity can he consume?

(2if) If the consumer spends his entire income on item 2, how much
quantity can he consume?

(iv) What is the slope of the budget line?

ear
OR

I 75 2 F Fiwa ¥ T T AR 8, W a5 1 %1 Fma § eii
Ui & oy H g uftada & @, @ e e ¥ a wfiad s ? [6]

I the price of item 2 falls by one rupee, but there is no change in the

price of item 1 and the income of the consumer, then what will be the
change in the budget line?

uyR-20 °1 % g % svae fafae (w5 ) | [1+1+1+1+1+1=6)
Write exceptions of the rule of demand (any six).
qr
OR
- T S Hid 74 H g FTE 9w &1 fafen (F18 70) |
Write down the factors affecting price elasticity of demand (any six).
yva-21  weIfusr giadifita wd stemfian | s fafan) [6]
Write the differences between Monopolistic competition and Oligopoly.
ear
OR
g wieafrn we 3ol gfeaifiren ® siax fafae (3% &) | [1+1+]1+1+1+1=6]
Write the distinction between Perfect competition and Imperfect
competition (any six).
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Tufmqﬁﬁwﬁgaﬁuhmﬁﬁwﬁﬁﬁﬁaﬁ%awhmm: [2+2+2=6]
(37) & I =

(7) a% H I

(&) o F A9 gfd F dger

Explain the price determination in the perfect competition under the
following heads :

(a) Demand of goods

(b) Supply of goods

(¢) Equilibrium of supply and demand of goods

Srerar
OR

Hi H qfiadd &1 e Jod W 1 YuE uSdl € 7 TEted gR eeEt [6]

What is the effect of shift in demand on equilibrium price? Explain

with diagram. bttps://www.cgboardonline.com

i gl % SR W TEA Te] I 991 g WL IR I

T [6]
w. W T (T H)

() Y TEEITR - 45,000

(ii)y TogmEe =3 - 7,000

(iff) 3T - 12,000

(iv) frafa - 10,000

Find out Gross Domestic Product and Gross National Product on the

basis of the following information :

Sl.No. Items Rs. (in Crore)
(i) Net national product - 45,000
(i) Depreciation expenditure - 7,000
(iif) Import - 12,000
(iv) Export - 10,000
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(i) T
(i) w1y

(v) s fageh faw

(v) HeRd
(vi) ¥het =g faw
(vii) =I5

(viii) &

Find out the Gross National Product by Income and Expenditure

Methods and prove that results are same by both the methods

SI.No. Items

(/)  Domestic consumption

(ify Depreciation

(iii) Profit

(71
arerar

OR

Frfafaa siwst § am fafu qo = fafa g0 we o 3= @
FIWC 1 77 off fog Fifs fr 9F fafudl 500w & 9fomg e

U (HASH)
60,000
800
18,000
4,000
45,000

16,800
9,000
8,000

Rs. (in Crore)

(iv) Net investment from abroad —

(v) Wages

(vi) Gross domestic investment -

(vii) Interest

(viii) Rent

60,000

800
18,000
4,000
45,000
16,800
9,000
8,000

NM-37B

P.T.O.



uyi-24

https://www.cgboardonline.com

(8]

feord ¥ T T Fr 1 A # sen S (FR 7)) |
[1+1+1+1+1+1=6]

Explain the credit control practices by the Reserve Bank (any six).

Srerar
OR

. fod ¥ o sew ¥ w1 &% % w9 @ wE W AE HC

(FE &:) |

Explain the functions of the Reserve Bank of India as a Central

Bank (any six).
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